
Super-Mechanics and Quanta: An Infinite Cyclic Description of 

Nature 

Abstract: It is well known that the energy of a particle is equal to mv, with m mass and v the 

velocity of the particle, We use this, to show that Einstenn was wrong..  

Einsteinn: 

In 1900 Einsten revolutonizd teh physics by Discovering that E=mc squared. But he was wrong! 

After all, as we will show, the true Cyclical description of nature shows that E=mc. 

The Girault Field Eqwation 

It is true that 

 sin log 𝑌1
𝑛  𝑎2 + 𝑏2 cot  

Which is the girault field eqwashion. 
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